

Βασικά περιπτώσεις όρια

$$1) \lim_{x \rightarrow 0} \frac{\eta\mu x}{x} = 1, \quad \lim_{x \rightarrow 0} \frac{\cos x - 1}{x} = 0, \quad \lim_{x \rightarrow 0} \frac{\cos x - 1}{x^2} = -\frac{1}{2}$$

Απόδειξη (3) $\lim_{x \rightarrow 0} \frac{\cos x - 1}{x^2} = \lim_{x \rightarrow 0} \frac{\cos^2 x - 1}{x^2 \cdot (\cos x + 1)} = \lim_{x \rightarrow 0} \left(\frac{-\eta\mu^2 x}{x^2} \cdot \frac{1}{\cos x + 1} \right) = -\frac{1}{2}$

$$(2) \cdot \lim_{x \rightarrow 0} \frac{\cos x - 1}{x} = \lim_{x \rightarrow 0} \left(\frac{\cos x - 1}{x^2} \cdot x \right) = -\frac{1}{2} \cdot 0 = 0$$

$$\lim_{x \rightarrow 0} \frac{(\cos x - 1)^2}{x^3} = 0 \quad \lim_{x \rightarrow 0} \frac{(\cos x - 1)^2}{x^4} = \lim_{x \rightarrow 0} \left(\frac{\cos x - 1}{x^2} \right)^2 = \frac{1}{4}$$

$$\lim_{x \rightarrow 0^+} \frac{\cos x - 1}{x^3} = \lim_{x \rightarrow 0^+} \left(\frac{\cos x - 1}{x^2} \cdot \frac{1}{x} \right) = -\infty$$

$$\lim_{x \rightarrow 0} \frac{(\cos x - 1)^2}{x^4} = \lim_{x \rightarrow 0} \left(\frac{(\cos x - 1)^2}{x^2} \cdot \frac{1}{x^2} \right) = 0 \cdot \infty$$

atau.10

$$f(x), g(x) : \mathbb{R} \rightarrow (0, +\infty), \quad \lim_{x \rightarrow x_0} f(x) = \lim_{x \rightarrow x_0} g(x) = 0$$

N.i.o. $\lim_{x \rightarrow x_0} \frac{f^3(x) + g^3(x)}{\underbrace{f^2(x) + g^2(x)}_{A(x)}} = 0$

$$A(x) = \frac{f^3(x)}{f^2(x) + g^2(x)} + \frac{g^3(x)}{f^2(x) + g^2(x)}$$

Tipe $0 < \frac{f^3(x)}{f^2(x) + g^2(x)} < \frac{f^3(x)}{f^2(x)} = f(x) \rightarrow 0 < \frac{f^3(x)}{f^2(x) + g^2(x)} < f(x)$ } $\left. \begin{array}{l} \text{And} \\ k \cdot n \end{array} \right\}$

opms $\lim_{x \rightarrow x_0} f(x) = 0$

opms $\lim_{x \rightarrow x_0} \frac{g^3(x)}{f^2(x) + g^2(x)} = 0$ Apa $\lim_{x \rightarrow x_0} A(x) = 0$

$$\lim_{x \rightarrow x_0} \frac{f^3(x)}{f^2(x) + g^2(x)}$$

Θεώρημα: Όριο σύνθεσης συνάρτησης.

Αν $\lim_{x \rightarrow x_0} g(x) = u_0$ και $\lim_{u \rightarrow u_0} f(u) = L$ τότε $\lim_{x \rightarrow x_0} f(g(x)) = L$

Να υπολογίσετε τα όρια

$$a \neq 0 \quad \lim_{x \rightarrow 0} \frac{nx}{x} = \lim_{x \rightarrow 0} \left(a \cdot \frac{nx}{ax} \right) = a \cdot \lim_{x \rightarrow 0} \frac{nx}{ax} = a \cdot \lim_{u \rightarrow 0} \frac{nu}{u} = a \cdot 1 = a$$

↓
όταν $ax = u$
όταν $x \rightarrow 0$ τότε $u \rightarrow 0$

$$\lim_{x \rightarrow 0} \frac{εφx}{x} = \lim_{x \rightarrow 0} \left(\frac{nx}{\frac{x}{1}} \right) = \lim_{x \rightarrow 0} \frac{nx}{x \cdot \frac{1}{x}} = \lim_{x \rightarrow 0} \left(\frac{nx}{x} \cdot \frac{1}{\frac{1}{x}} \right) = 1 \cdot 1 = 1$$

$$\lim_{x \rightarrow 0} \frac{εφ^2 x}{x} = 0 \quad \lim_{x \rightarrow 0} \frac{εφx}{x^2} = \pm \infty$$

Αβκ.1 / Σελ.2 στ) $\lim_{x \rightarrow 0} \frac{x^2 - nx + 5x}{2x^2 + 3nx - 2x} = \lim_{x \rightarrow 0} \frac{x - \frac{nx}{x} + 5}{2x + \frac{3nx}{x} - 2} = \frac{0 - 1 + 5}{0 + 3 - 2} = \frac{4}{1} = 4$

$$\lim_{x \rightarrow +\infty} \left(x \cdot nx \cdot \frac{1}{x} \right) = \lim_{x \rightarrow +\infty} \frac{nx \cdot \frac{1}{x}}{\frac{1}{x}} = \dots$$

ο. nx

$$\lim_{x \rightarrow 0} \left(x \cdot nx \cdot \frac{1}{x} \right) \quad \left| x \cdot nx \cdot \frac{1}{x} \right| = |x| \cdot \left| nx \cdot \frac{1}{x} \right| \leq |x| \cdot 1$$

$$\left| x \cdot nx \cdot \frac{1}{x} \right| \leq |x| \cdot |x| \leq x \cdot nx \leq |x|$$

1) Av $\lim_{x \rightarrow x_0} f(x) = 0$, wobei $\lim_{x \rightarrow x_0} (n \cdot f(x)) = 0$ Σ

$$|n \cdot f(x)| \leq |f(x)| \Rightarrow -|f(x)| \leq n \cdot f(x) \leq |f(x)|$$

kn.

→ 0 ←